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QUESTION 1

Which design phase service component includes the development and documentation of the test
case or cases used to verify that a deployed infrastructure meets operational, functional, and
interface requirements?
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Implementation Plan

Business Plan

Staging Plan

Detailed Design Development

Systems Acceptance Test Plan Development

Answer: E

QUESTION 2
Which of these is the best definition of the Cisco Lifecycle Services approach?

A.

B.
C.
D

It defines the minimum set of services required to successfully deploy and operate a set of Cisco
technologies.

It determines how best to price Cisco products.

It provides partners with a useful way to leverage Cisco resources.

It consists of these phases: plan, deploy, support, and troubleshoot.

Answer: A

QUESTION 3
In which of these phases is a customer's current network infrastructure assessed?
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plan
design
implement
prepare

Answer: A

QUESTION 4
Which two benefits will a client see from adding a Wireless LAN Controller to their Smart Business
Communications System? (Choose two.)
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allow for guest access
increase connection speeds
add additional access points
network management with CLI

Answer: AC

QUESTION 5
Which three business requirements development activities are performed in the prepare phase
before creating a technology strategy? (Choose three.)



identifying and assessing customer business requirements

documenting and categorizing customer business requirements in terms of performance, availability,
capacity, and security

producing a documented technology strategy

creating a bill of materials

presenting documented business requirements to a customer and having the customer validate them
completing a site survey
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Answer: ABE

QUESTION 6
Which benefit can be obtained by using the change management service component in the
operate phase?

A. reduced operating costs, due to a consistent framework for making necessary changes in an efficient
and accountable manner

B. greater accuracy, completeness, and timeliness of network configuration information

C. natification provided to interested parties regarding problems that have been identified, and a system
that scales with customer requirements

D. improved system service quality and fewer disruptions

Answer: A

QUESTION 7
The Cisco SA 500 Series Security Appliances are built specifically for businesses with less than
100 employees. What are three important benefits of this device? (Choose three.)

business-grade firewall

premium support via SMARTnet
site-to-site VPN for remote offices
Cisco I0S software-based

email security

XML support
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Answer: ACE

QUESTION 8
Which three are integrated Smart Applications included with the Cisco Unified Communications
500 Series? (Choose three.)

Smart Business Suite
Connected Data Protector
TimeCard View

Cisco Unified CallConnector
Cisco WebEx PhoneConnect
VoiceView Express
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Answer: CEF



QUESTION 9
What are two uses for USB ports on ISRs? (Choose two.)

increased memory capabilities

secure device authentication

bulk flash storage

control over the types of files that can be stored
digital certificate storage
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Answer: BC

QUESTION 10
What were two primary design purposes for ISRs? (Choose two.)

A. to provide a centralized threat database for IPS sensors

B. to bring IP telephony, voice mail, email, and firewall services to the end user

C. toimplement and to integrate fully network services such as security, WAN routing, and Ethernet
switching

D. to offer Fast Ethernet and 10 Gigabit Ethernet as a high-speed routing platform

E. to be a next-generation, high-performance routing platform

F. to provide all security-management functions in one high-performance device

Answer: CE

QUESTION 11
Which command displays the routing information that will be used to move data between VLANs
on a router on a stick?

Router# show ip protocols
Router# show ip route
Router# show vlan[vlan_ID]
Router# show vlan route
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Answer: B

QUESTION 12
Which two are characteristics of HSSI cables? (Choose two.)

HSSI cables use a female, 10-pin, SCSI-ll-type connector.

The HSSI connector and the HSSI cable are identical.

HSSI cables use cable CAB-HSI1 and cable CAB-HNUL.

The HSSI connector and the HSSI cable are similar.

The CAB-HNUL is used to connect your router to an external DSU.
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Answer: CD

QUESTION 13
What are two ways to secure traffic across a network? (Choose two.)



Cisco ISR G2
identity-management devices
ACLs

firewalls

VPN connection

VLANSs
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Answer: CD

QUESTION 14
Which three elements can you review when examining the traffic across a network? (Choose
three.)

VPN connection
packet flows
ACLs

states
connections
firewalls
mainframe
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Answer: BDE

QUESTION 15
Which three types of ACL would you use to secure traffic on the network? (Choose three.)

VLAN
reflexive
packets
dynamic
IPS
firewalls
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Answer: ABD



